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1. One-way analysis of variance (ANOVA) is typically used to test for

difference

among at least three groups, since the two- -group case can be covered by a T-test.

Please provide an example to explain why performing multiple t-tests are

inappropriate to test the difference among at least three groups. (10%)

2. When do you use the following: (15%)
(1). One sample t-test
(2). Dependent sample t-test
(3). Pearson’s correlation
(4).Regression
(5).Mann-Whitney U test

3. What are the major assumptions before running One-way analysis of variance

(ANOVA)? (5%)

4. Aresearcher would like to know if she can predict students’ GPA in their senior

year from their 8" grade scores. Please (1) write a “Null hypothesis” (3%) and (2)

interpret the results based on the tables as follows. (7%)

Table 1. Model Summary

R R Square Adjusted R Square Std. Error of the
, Estimate
.090° .008 .005 29.6157
a. Predictors: (Constant), 8" Grade Score
Table 2. ANOVA”
Model Sum of df Mean Square F Sig.
Squares
Regression 2387.823 1 2387.823 2,722 100°
Residual 294702.516 336 877.091
Total 297090.339 337
a.  Predictors: (Constant), 8" grade scores
b.  Dependent Variable: students’ GPA in their senior year
Table 3. Coefficients®
Unstandardized Standardized
Coefficients Coefficients
Model B Std. Error Beta t Sig.
(Constant) 4475 7.068 633 527
8™ Grade Score 3.784 2.293 .090 1.650 100

a.  Dependent Variable: students’ GPA in their senior year




